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GB-WPforester:Lord Forester Library Welde lute book (1605), f.2vb. Encoded and edited by Sarge Gerbode.

3) 4 rhythm flags double value in orig.
2) Dot added by editor.
1) Note one course lower in orig. Same in bars 20, 22.



40 





  
  













  


 






    
 




  



  








    

















  



 


  

45





  


















    
     

  
















































50 

































































































55 





























































































 







60 






























  
    

















  













   










65 


 











 

  















  

















  













   

 








70


   

 










 
  










 

  













1)








 







 














 



75 






 


  




     














-2-

1) Note indistinct.


